This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 6 - North West Dumfries

4,222

4

845

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Graham BELL	Scottish Conservative and Unionist	1,374
Stacy BRADLEY	Scottish National Party (SNP)	574
Billy FARRIES	•	163
Andy FERGUSON	Scottish National Party (SNP)	693
Michelle Anne JOHNSTON	Scottish Green Party	128
David MCKIE	Scottish Labour Party	611
Ronnie NICHOLSON	Scottish Labour Party	679
	Total	4,222

Candidate Graham BELL Elected with 1,374 votes, being in excess of the quota of 845

This report contains the transfers results.

Stage 2 - Surplus of Graham BELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham BELL	0	0.00000	0.00000
Transfer to Stacy BRADLEY	37	0.38500	14.24500
Transfer to Billy FARRIES	275	0.38500	105.87500
Transfer to Andy FERGUSON	39	0.38500	15.01500
Transfer to Michelle Anne JOHNSTON	74	0.38500	28.49000
Transfer to David MCKIE	218	0.38500	83.93000
Transfer to Ronnie NICHOLSON	113	0.38500	43.50500
Value of non-transferable ballot papers			237.94000
	Total		529.00000

This report contains the transfers results.

Stage 3 - Exclusion of Michelle Anne JOHNSTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham BELL	0	0.00000	0.00000
Transfer to Stacy BRADLEY	2	0.38500	0.77000
Transfer to Stacy BRADLEY	24	1.00000	24.00000
Transfer to Billy FARRIES	23	0.38500	8.85500
Transfer to Billy FARRIES	27	1.00000	27.00000
Transfer to Andy FERGUSON	1	0.38500	0.38500
Transfer to Andy FERGUSON	28	1.00000	28.00000
Transfer to David MCKIE	5	0.38500	1.92500
Transfer to David MCKIE	24	1.00000	24.00000
Transfer to Ronnie NICHOLSON	8	0.38500	3.08000
Transfer to Ronnie NICHOLSON	7	1.00000	7.00000
Value of non-transferable ballot papers			31.47500
	Total		156.49000

This report contains the transfers results.

Stage 4 - Exclusion of Billy FARRIES

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham BELL	0	0.00000	0.00000
Transfer to Stacy BRADLEY	6	0.38500	2.31000
Transfer to Stacy BRADLEY	27	1.00000	27.00000
Transfer to Andy FERGUSON	13	0.38500	5.00500
Transfer to Andy FERGUSON	33	1.00000	33.00000
Transfer to Michelle Anne JOHNSTON	0	0.00000	0.00000
Transfer to David MCKIE	59	0.38500	22.71500
Transfer to David MCKIE	41	1.00000	41.00000
Transfer to Ronnie NICHOLSON	23	0.38500	8.85500
Transfer to Ronnie NICHOLSON	22	1.00000	22.00000
Value of non-transferable ballot papers			142.84500
	Total		304.73000

This report contains the transfers results.

Stage 5 - Exclusion of Stacy BRADLEY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham BELL	0	0.00000	0.00000
Transfer to Billy FARRIES	0	0.00000	0.00000
Transfer to Andy FERGUSON	23	0.38500	8.85500
Transfer to Andy FERGUSON	531	1.00000	531.00000
Transfer to Michelle Anne JOHNSTON	0	0.00000	0.00000
Transfer to David MCKIE	7	0.38500	2.69500
Transfer to David MCKIE	22	1.00000	22.00000
Transfer to Ronnie NICHOLSON	3	0.38500	1.15500
Transfer to Ronnie NICHOLSON	14	1.00000	14.00000
Value of non-transferable ballot papers			62.62000
	Total		642.32500